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1.6. Advanced Algebra DATE: _/[-°° 3
Solving Absolute Value Inequalities| B
Target 24, Ultilize a graph to illustrate the solution set of an absolute value ineguality. —
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Solve a Multi-Step Absclute Value Inequality
1. Solve |2x — 1| =5 Graph the solution on a number line.
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Solve a Multi-Step Absolute Value Inequality s
1. Solve |2x — 1| <5 Graph the solution on a number line. Then give the solution set in both
set-builder and interval notation.
Lilce #]above. So |2x—|I<S = =85<2x-1<5
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2. Solve |3x — 12| = 6. Graph the solution on a number line. Then give the solution set in
both set-builder and interval notation. N g 3 ¢ W Sole
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4 3. Solve |6r — 3| < 21. Graph the solution on a number line. Then give the solution set in ) Ef
both set-builder and interval notation.
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4. Solve |b — 4| = 6. Graph the solution on a number line. Then give the solution set in both 1
set-builder and interval notation.
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5. Solve |7x| +4 = 0. Graph the solution on a number line. Then give the solution set in both
set-builder and interval notation.
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